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7.1/7.2 Notes — Use Unit Circle to find Trig Values

A. Find the exact value of each trig function by drawing a reference triangle.
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B. Find the exact value of each trig function using the unit circle as a reference. ,» X
1.5in315 N7 2. csc750—c5czo_@ 3. cotrr = :3[ 4 cos — X = Cong:
J velue 2. A Ard olevninal £ APNPT: Fnd coleminal &
20—3(00: 290 \ ‘ -3W+}—7'—rr“'2‘36n_
0-360= 30° o "o "
fip y over” “ng 2= -—'—g-
il 19 VSRV ) -
' 9 b =
[ =
710 ° = seI%’-
@”co.h = tan o @) see *5
S, em . 71T 49520 = 135
N * i \13
& \ \.ﬁ' ﬁ r —
= BRI b Tz 2
2 Z =~ 24z | 3

s

Scanned with CamScanner

3
2



‘?‘.“. ]

s
“a-bt

SM3 7.3 Notes — Solving Trigonometric Equations

A. Warm-up: Solve each equation.
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B. Solve each equation fof 0 < & <360 . |(Remember: All Students Take Calculus and tang=2 500 )
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ve each equation for‘ 0<0<2rx.
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